MeTu3bl

HaunmeHoBaHue Avawmerp, [Anuna, Macca, O6o3Ha4yeHune ApTukyn
MM MM Kr/wr.
BonTt wecTturpaHHuk Hapy>xHbih M6x1x20-5 6 20 0,00674 | ABH.6.1.20.5.2 H9110320052
BonTt wecTturpaHHuk HapyxHbin M8x1,25x16-5 8 16 0,01157 ABH.8.1,25.16.5.2 H9110416052
BonTt wecTturpaHHuk HapyxHbin M8x1,25x20-5 8 20 0,01302 ABH.8.1,25.20.5.2 H9110420052
BonTt wecTturpaHHuk HapyxHbin M8x1,25x25-5 8 25 0,01484 ABH.8.1,25.25.5.2 H9110425052
BonTt wecTturpaHHuk HapyxHbin M8x1,25x30-5 8 30 0,01712 ABH.8.1,25.30.5.2 H9110430052
BonT wecTturpaHHuk HapyxHbin M10x1,5x25-5 10 25 0,02664 | ABH.10.1,5.25.5.2 H9110525052
BonT wecTturpaHHuk HapyxHbin M10x1,5x35-5 10 35 0,0327 ABH.10.1,5.35.5.2 H9110535052
BonT wecTturpaHHuk HapyxHbein M10x1,5x60-5 10 60 0,04812 | ABH.10.1,5.60.5.2 H9110560052
BonT wecTturpaHHuk HapyxHein M10x1,5x70-5 10 70 0,05429 | ABH.10.1,5.70.5.2 H9110570052
BonT wecTturpaHHuK HapyxHbin M12x1,75x35-5 12 35 0,0472 ABH.12.1,75.35.5.2 H9110635052
BUWHT wnuy nnocknin M6x1x16-5 16 0,00422 | ABI1.6.1.16.5.2 H9260316052
BUWHT wnuuy nnocknin M6x1x20-5 6 20 0,00491 | ABI1.6.1.20.5.2 H9260320052
BUWHT kpecToo6pasHbIi wnuy, M6x1x16-8 6 16 0,00529 | ABK.6.1.16.8.2 H9250316082
BuHT kpecTtoobpasHbin wnuy M6x1x20-8 6 20 0,006? ABK.6.1.20.8.2 H9250320082
[anka wecturpaHHas M6x1x5-5 6 0,00257 | Artl.6.1.5.5.2 H9310300552
[anka wecTturpaHHasa M8x1,25x7-5 8 0,00555 | Arl.8.1,25.7.5.2 H9310400752
[anka wecturpatHaa M10x1,5x8-5 10 0,01022 | Arl.10.1,5.8.5.2 H9310500852
[arika wecturpaHHas M12x1,75x10-5 12 10 0,01567 | Ar'l.12.1,75.10.5.2 H9310600952
[anka wecTturpaHHas ¢ Hacevkon M6x1x6-8 6 6 0,00345 Al'uiH.6.1.6.8.2 H9311300682
lanka wecTurpaHHas ¢ Haceykon M8x1,25x8-8 8 8 0,00706 | ArtiH.8.1,25.8.8.2 H9311400882
lanka wecturpaHHas ¢ Hacevkon M10x1,5x10-8 10 10 0,01108 | ArtliH.10.1,5.10.8.2 H9311500982
[anka wecturpaHHas ¢ Hacevkon M12x1,75x12-8 12 12 0,01278 AltuH.12.1,75.12.8.2 | H9311600282
[arika cTpat nnockast M6x1x5-5 6 5 0,02 AlCrn.e.1.5.5.2 H9335300552
[anka ctpaT nnockast M8x1,25x5-5 8 5 0,02 AICr.8.1,25.5.5.2 H9335400552
[arika ctpat nnockass M10x1,5x5-5 10 5 0,04 AIrcr.10.1,56.5.5.2 H9335500552
[arika ctpat o6bi4Has M6x1x5-5 6 5 0,02 Arco.6.1.5.5.2 H9334300552
[arika ctpat o6bivHas M8x1,25x5-5 8 5 0,02 Arco.8.1,25.5.5.2 H9334400552
laika ctpat o6blyHast M10x1,5x5-5 10 5 0,04 Arco.10.1,5.5.5.2 H9334500552
laika ctpat yanuHéHHas M6x1x5-5 6 5 0,02 Arcy.6.1.5.5.2 H9336300552
laika ctpaT yanuHéHHas M8x1,25x5-5 8 5 0,02 Arcy.8.1,25.5.5.2 H9336400552
[anka ctpat yannHénHaa M10x1,5x5-5 10 5 0,04 AICY.10.1,5.5.5.2 H9336500552
[anka 3aknagHass M6x1x8-5 6 8 0,0041 Al'3.6.1.8.5.2 H9320300852
[arvika 3aknagHaas M8x1,25x8-5 8 8 0,0078 Al3.8.1,25.8.5.2 H9320400852
3Be3goyka 6x18x1,5-4 6 1,5 0,00207 A3.6.18.1,5.4.2 H9500320242
3Be3gouvka 8x22x2-4 8 2 0,00388 | A3.8.22.2.4.2 H9500430242
3Be3godka 10x29x2,5-4 10 2,5 0,00842 | A3.10.29.2,5.4.2 H9500530342
LLaiba rpoBep 6x9x1,2-6 6 1,2 0,00037 | ALUI6.9.1,2.6.2 H9690310262
LLlain6a rpoBep 8x12x1,6-6 8 1,6 0,00103 | ALUM8.12.1,6.6.2 H9690420262
LLla6a rpoBep 10x15x2-6 10 2 0,00201 | ALUM10.15.2.6.2 H9690520262
LLlanba rpoBep 12x19x2,5-6 12 2,5 0,00345 | ALUM12.19.2,5.6.2 H9690620362
LWanba nnockas 6x12x1,6-4 6 1,6 0,0011 ALLUM.6.12.1,6.4.2 H9660320242
LWan6a nnockast 8x16x1,6-4 8 1,6 0,00182 | ALUM.8.16.1,6.4.2 H9660420242
LLlanba nnockass 10x20x2-4 10 2 0,00357 | ALLUM.10.20.2.4.2 H9660520242
Llanba nnockas 12x24x2,5-4 12 2,5 0,00627 | ALUM.12.24.2,5.4.2 H9660630342
LLlan6a nnockas yBenuyeHHasi 6x18x1,6-4 6 1,6 0,00279 ALIMY.6.18.1,6.4.2 H9667320242
LLlai6a nnockas yBenuyeHHasi 8x24x2-4 8 2 0,00623 | ALLUMY.8.24.2.4.2 H9667430242
LLlai6a nnockas yBenuyeHHasi 10x30x2,5-4 10 2,5 0,01217 | ALUMY.10.30.2,5.4.2 H9667530342
LLla6a nnockas yBenuyeHHast 12x37x3-4 12 3 0,0222 ALUMY.12.37.3.4.2 H9667640342

622

WWW.SOEMI.RU




